INSTALLATION INSTRUCTIONS

O o PART# : 17A155900SS/17A155900A
-‘ GRILL GUARD FOR HONDA ELEMENT 03-08

PARTS LIST

(1) FRONT BAR (16) 7/16” FLAT WASHERS

(2) FRAME MOUNT BRACKETS (6) 7/16” HEX LOCK NUTS

(2) TOP SUPPORT BRACKETS (2) 1/4” x 3/4” SCREWS

(4) 7/16” x 17 HEX BOLTS (1) 1/4” HEX LOCK NUTS

(6) 7/16 x 1 Y/aHEX BOLTS (2) ¥a WASHERS

(2) 5/16 X ¥%a HEX BOLTS (2) 5/16 NUT PLATES

(2) 716 DUAL NUT PLATES

PROCEDURE

1. Remove the plastic rivets securing the plastic guard located underneath the vehicle in order to install the
front bar.

2. Start with the passenger side assembly, position one of the 7/16-nut plate behind the cross member
opening and align the 7/16 nut plate with the two matching holes in the frame rail. Fasten the frame
brackets to the bottom cross member as shown in the illustration using the 7/16 x 1” hex bolts and 7/16
washers.

NOTE: ALIGN FRAME BRACKETS 24 5/8” FROM OUTSIDE TO OUTSIDE OF BRACKETS AND
SECURE THEM.

3. Open hood to access existing holes on vehicle.

4. Attach top bracket support to the cross member existing hole using the 5/16 nut plate and 5/16 x % hex
bolt as shown in illustration.

5. Using a utility knife, carefully cut slots on the plastic guard underneath the vehicle to fit around the frame
brackets.

6. Re-attach the plastic guard

7. Attach front bar assembly to the lower brackets (inner edge) using the 7/16 x 1-1/4” hex bolts, 7/16 hex
nuts ,washers, and the top support bracket using the V4 x % screws, hex nuts, and washers.

8. Align front bar assembly with front of vehicle and secure all fasteners.

SEE DIAGRAM BELOW


http://www.carid.com/black-horse/
http://www.carid.com/grill-guards.html

2003-05S HONDA ELEMENT

PASSENGER SIDE SHOWN

5/16 X 3/4 HEX BOLT

TOP SUPPORT
BRACKET

1/4" X 3/4 SCREWS

\/_\

7/16 X 1 1/4 HEX
BOLTS

5/16 NUT PLATE - MOUNT
UNDERNEATH

i
o wa T

PASSENGER SIDE ASSEMBLY

BRUSH GUARD MOUNTS TO INNER
SIDE OF BRACKETS

it SR

— EXISTING HOLES UNDERNEATH VEHICLE

_CROSS
MEMBER
ﬁ c& 7/16 NUT PLATE SLIDE BEHIND CROSS
MEMBER
PASSENGER SIDE

BRACKET




